
PROBLEMAS DE QUÍMICA

RED-OX       

Problema802:  Di cuál es el agente oxidante y cuál el agente reductor en las siguientes reacciones:
Zn + Cl2 → ZnCl2

CuO + H2 → Cu + H2O
NO + 1/2 O2 → NO2

2 Na + 2 H2O → NaOH + H2

2 KClO3 → 2KCl + 3O2

4 NH3 + 3 O2 → 2 N2 + 6 H2O
2 FeCl2 + Cl2 → 2 FeCl3

2 AgNO3 + Cu → Cu(NO3)2 + 2 Ag

0                 0                 +2     -1 

Zn + Cl2 → ZnCl2
reductor  oxidante

                          se oxida     se reduce

+2    -2          0                 0           +1   -2

CuO + H2 → Cu + H2O
oxidante      reductor

                                                         se oxida     se reduce

+2  -2                    0               +4 -2

NO + 1/2 O2 → NO2
reductor        oxidante

                se oxida       se reduce

         0                +1  -2              +1   -2  +1        0

2 Na + 2 H2O → NaOH + H2
reductor           oxidante

                      se oxida                 se reduce

       +1  +5  -2               +1  -1              0

2 KClO3 → 2KCl + 3O2

   oxidante  reductor

                        se reduce      se oxida

      -3   +1               0                    0                 +1   -2

4 NH3 + 3 O2 → 2 N2 + 6 H2O
   reductor        oxidante

            se oxida                  se reduce

www.alonsoformula.com Carlos Alonso



PROBLEMAS DE QUÍMICA

RED-OX       

      +2    -1             0                    +3    -1

2 FeCl2 + Cl2 → 2 FeCl3
       reductor        oxidante

           se oxida        se reduce

        +1  +5   -2          0                +2     +5  -2                    0

2 AgNO3 + Cu → Cu(NO3)2 + 2 Ag
   oxidante              reductor

                  se oxida      

                      se reduce
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